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@ (a) Using the axes below, sketch the graph of y = sinx for values of x from —180° to 180°. [2]

2 a\y'o?l “9o

(b) Find all solutions of the following equation in the range —180° to 180°,
sinx = -0-3091

fm«« cM«l’w * 2 Sia" CODoTl) =z - ¥ “
2"".»71. 10" + IV = =Tga°

Checle Sin(~i61) s -0%pq .../

21

L]

@ (a) Using the axes below, sketch the graph of y = cos x for values of x from 0° to 360°.
[21

I
O+-929) ]

> X

(b) Find all solutions of the following equation in the range 0° to 360°.
cosx = 09205

fo~ caleolads, x - Co"(;-?urjs 23°
Cor qud 23 - 23 2 T3
Chek Coi (237) = OG0y

(21

18410}




@ fa) Using the axes below, sketch the graph of y = cosx for values of x from -180° to 180°. [2]
y

4

{

0 ‘T\T 13:0 i

-'ls:o V?o
/ -l

-0 3ig \

(b} Find all solutions of the following equation in the range —180° to 180°.

cosx =-0-829

~x 2 oy (~0¥29) = [L46°

fr andt (k) = - 146
Chaclk.  Coyf-lu6) = -c)»xms/

{18410y

2

(a) Using the axes below, sketch the graph of y = sin x for values of x from —180° to 360°.

/

i [/«.x

(b) Find all solutions of the following equation in the range ~180° to 360°.

2]

fror colenlabs- oc.:nt;f's'(vo-ar) : -53°

F«U»?m{’\ 9 I IK0 4TS 2 ~123"
Xz (yo+53 3 233°

= 3p-y3z 302°,

31
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@ (a) Using the axes below, sketch the graph of y = sin x for values of x from ~180° t0 360°.  [2}
2Y
\ A
-lr\- M\ go *
» -0 FoF
s—' b &
1 . =
. (b) Find all solutions of the following equation in the range ~180° to 360°.
sinx=—0707 o
J*"M‘Cala.igj"" K 2 Sen= (-0F0%) s =AY
e geh i}
v xz |fo+qf = ~13)
xz [yo+dT = Q_LT
<2 3-4arz 31y =
Bl
Turn over.

(AtBaM)

@ (a) Using the axes below, sketch the graph of y = tan x for values of x from -180° to 180°. (3]

¥

(]

l

t

|

l

)

%

- —1,,7! 0

|

I
|
t

tb)  Find all solutions of the following equation in the range -180° to 180°,

anx=-143

Fom coldealalor X2 buc (= la3)s ~§8°

Faseguet 22 (70— ¢ = 9u°

Chad T GGz 2li-y 7
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o

O Sketches of three graphs labelled A, B and C are shown below.

A
y

J

Complete the following table matching each function with the appropriate graph.

(L1

/N
\

Function Graph
y=cosx A
y=sinx <.
y=tanx B

2}

L,\,

po'j {a) USingtheambelow,sketchﬂ!eﬂgmpbofyccosxforvaluesofxfmm—lSO"to180‘. 2]

y
{

$pr S

F\ {7
A N
I 9 q;q» tyo
0"

. -} -

(b) Write down the value of

L

@@ cos0°,

f1]
(i) cos 90°.

o

{1}
(c) Giv cos 75° = 0-2588, write down a value of angle A for which cos A = -0-2588.

o <q~\~l:44 Az qorly [03°

]

15. Given that w is directly proportional to £2, and that w = 100 when f=§,
(a) ﬁndanexpresswnforwmtermsoff

wel Fr
WekF.
wl taztoo  FsJ

180 = Rx S
ke 100 . 4
;-

3]
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